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I m— 9 7.498
AL A 7.71 7.509
TN 5.92 6.952
SAZUH 5.19 7.087
7 AU AARIE 471 7.104
HA 3.37 5.921
AR AT 3.18 6.048
TS b 2.79 6.068
RyPaFA 2.56 4,871
FamP7T 2.48 5.045
TFAFET 2.23 4,508
IRET 2.09 6.481
ny7 1.86 5.856
A A 1.48 5.061
STTvT 1.43 6.324
A K27 1.07 5.314
kov= 0.86 5.389
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> x = ¢(9.00,7.71,5.92,5.19,4.71,3.37,3.18,2.79,2.56,2.48,2.23,2.09,1.86,1.48,1.43,1.07,0.86)
>y = c(7.50,7.51,6.95,7.09,7.10,5.92,6.05,6.07,4.87,5.05,4.51,6.48,5.86,5.06,6.32,5.31,5.39)
> plot(x,y)
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> result = Im(y~x)
> summary(result)
Call:
Im(formula = y ~ x)
Residuals:
Min 1Q Median 3Q Max

-1.17522 -0.34648 0.07534 0.29289 0.89017

Coefficients:

Estimate Std. Error t value Pr(zltl)
(Intercept) 4.97332 0.25924 19.184 5.76e-12 ***
X 0.31924 0.06326 5.046 0.000145 ***

Signif. codes: @ ‘***’ @.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ¢ * 1
Residual standard error: ©.5937 on 15 degrees of freedom
Multiple R-squared: 0.6293, Adjusted R-squared: 0.6046
F-statistic: 25.47 on 1 and 15 DF, p-value: 0.0001448

BAEDIERIE L Stttz F = v 7




> shapiro.test(resid(result))
Shapiro-Wilk normality test

data: resid(result)
W = 0.96263, p-value = 0.6814

> library(car)

> ncvTest(result)

Non-constant Variance Score Test

Variance formula: ~ fitted.values

Chisquare = 1.043191 Df =1 p = 0.3070804
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